Chemistry 120
Rio Hondo College
Fall 2017 Exam 3

Name \Q/Q\/y

Exam #3 — 100 points
Directions: Answer each question below to the best of your ability. Show all work where
calculations are required. An information sheet with a periodic table is attached to the

back of the exam; you may remove it if you wish.

1. (27) Fill in the product(s) of each chemical reaction below (with states), then
balance the chemical equation. Provide the name of the specific reaction type.
Write “No Reaction” if you do not expect a reaction to occur. For reactions that
do occur, assume the reaction will go to completion.
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PPE v (a@
b. Pb(C2H302)2 (aq) + Na2504 (aq) & Pl SO (» t 2—(\‘462"(5@
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